H £ 0l & AF & S

Al A

20258 20ilaF LekalH M
SN OISR D
3 LSXSA(ARISXI/=01)
Rl == 4oty X (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Fe=X 244,602,896 228,027,260 16,575,636
= 189,646,338
N 3,144,594
Al 37,087,779
- 14,724,185
COISXIET(ALRIEXI/ =2) 201,253,333 184,842,204 16,411,129
= 163,875,296
N 3,144,594
Al 23,343,845
- 10,889,598
= dgory N 174,876,086 165,636,830 9,239,256
= 163,083,286
N 3,144,594
Al 16,016,055
- 2,632,151
o=k 2dst 108,100 108,000 100
201 fer= 3| 1,000 900 100
01 At 2|l 1,000 900 100
O&W M= 100,000 *10H 1,000
203 gF=4| 2,000 2,000
03 A=A =T 2,000 2,000
OLoI=XESs ABER
2,000,000& 2,000
301 EtE N = 105,000 105,000
14 DBt 2 a3 105,000 105,000
OXNSSAXN =& 2=H|
50,0002 x 175« 123 105,000
303 Zal= 100 100
01 2= 100 100
OLQ=X K323 AY
50,0003 *2& 100
=3 M= 170,091,040 160,773,391 9,317,649
= 153,083,286
Al 15,306,979
- 1,700,775
301 2EN= 170,091,040 160,773,391 9,317,649
= 153,083,286
Al 15,306,979
- 1,700,775
01 Al EE A S(FRNEXM) 170,091,040 160,773,391 9,317,649
OJI=¢=3 Xs 170,091,040,000& 170,091,040
= 163,083,286
Al 15,306,979
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SN OISR D
3 LSXSA(ARISXI/=01)
Helr e Moty T (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 1,180 1,180
01 At2teltl 1,150 1,150
OFIIQEI2 SAHAH W= 1,150
- WKl 6,000& 1202 720
- UE2E=EE 430,000 430
301 2= 850 1,000 A150
14 JIEt2d = 850 1,000 A150
OFINQI2 SALA w=H|
850,000 850
QLULESAS & JISHA 8,000 8,000
201 Let=23 | 8,000 8,000
03 A= SHI 8,000 8,000
ORQUYBSAIS & JIE&HA}
8,000,000 8,000
LOISXIAIE X 4,776,511 2,283,790 2,492,721
= 448,880
Al 1,832,461
- 2,49%,170
ARy Wy o 22y K 469,782 424,308 45,474
2 234,891
Al 117,445
- 117,446
307 el2tol & 469,782 424,308 45,474
= 234,891
Al 117,445
T 117,446
10 Al SXAEEHE2EHI 22X 469,782 424,308 45,474
OB2Y Wyl 2 22| K
469,782,000& 469,782
= 234,891
Al 117,445
- 117,446
d=2g 28 N2 1,028,082 708,084 319,998
Al 193,39%6
- 834,686
201 eer23| 109,900 3,200 106,700
01 AtR2t2lHI 109,900 3,200 106,700
0324 =28 2% 3,400
- 329 =3 01™ 200,000 504 A 1,000
- RN Has
2,000,000& 19 2 2,000
- =IRME R 200,000 %27 2 400
OZ2¢ 0oz M= 60,0002 *250CH 15,000




M Zol=x
M LOISKSA(AEIER/L01)
el ==XIAIE X (SH9 H2)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
Odz4g 3J1¥88)| 28 udM € 84
420,000& #215CH 90,300
ORHARY BB K=
600, 0002 x2JH A 1,200
301 2 &= 88,750 50,750 38,000
2 A REEAHS(HAHNS, NLTHE) 8.750 8.750 0
OY2ZY =HF ASE X
50,0002 *175JH 2~ 8,750
14 DBt 2 a3 80,000 42,000 38,000
OF2Y R0l D20 29
1,000,000 8000 2 80,000
307 212+01& 629,432 624,134 5,298
Al 193,3%
T 436,036
10 Al SXAIZEHE2EHI 2 X 557,640 557,640 0
OZ2¢ 24| X (FHI=01) 242,640
- J|l=22gH| 104,000 1800 A+ 123 224,640
- 2¥ FE2E S 29| FIXE
100,000& #1504 2=+ 123 18,000
OZzg 29| XNA(AHIEX)
315,000,000 315,000
Al 157,500
- 157,500
11 ARIZXAIE 2 X 71,792 66,494 5,298
Ozdzg gdst 228 X2
25,000,000 25,000
Al 12,500
T 12,500
OZ2E =328 22|kt BiXl X3
46,792,000 46,792
Al 23,3%
- 23,3%
405 KHAHF SH 200,000 30,000 170,000
01 ML ESHSHI 200,000 30,000 170,000
22 =3 200,000
- 0o 2,000,000 30CH 60,000
- 430 S JHEHS
2,000,000 +50CH 100,000
-4t S I 800,000 #500H 40,000
CRI=XAE JIsE2 419,000 185,000 234,000
401 AIEHIZL R OHY| 419,000 185,000 234,000
01 A=l 419,000 185,000 234,000
OLQI=XIAIE HES
5,000,000 +80H 2~ 400,000
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KIO

Hlw

340

340

340

1,487,346

1,487,346

1,487,346

MEE
Ofl &k2h

61,390

61,390

36,000

3,600

21,790

19,500
19,500
19,500

2,000

2,000

2,000

Ofl &F2H

10,000

9,000
61,730

Al

18,000
43,730

61,730

Al

18,000
43,730
36,000

24,000

Al

12,000
12,000

12,000
6,000
6,000
3,600

Al

3,600
22,130

5,330

16,800
19,500
19,500
19,500

19,500

1,489,346

Al

1,051,155

438,191
1,489,346

Al

1,051,155

438,191

2,000

2,000
1,487,346

766,110

630,918

441,643

Al

- ESS

- SRA(E) - HIRAY

S - B

1,000,0002 #1000 2

9,000,000&

307 212t01™

24,000,000

&

OkelXsd sl X

12,000,000

3

900,000 #4

iy
3l

[ = XIA

5

11 At

5,330,000&

3

4,200,0002! %4

307 212t01™

I
31

[ = XA

k=l

11 At

125,000 #1304 2+ 122

i

30
OH

.

Bl
I

H

307 212t01™

bR

SH
=

Ookelel g I8

2,000,000

630,918,000&




SA FUS
3 L=SXSA (ARSI =01)
el ==XIAIE X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 189,275
- 244l 117,841,000& 117,841
Al 82,488
- 35,353
- SXNELIE 1,400,000 1,400
Al 1,400
- Nz2tel=g 15,951,000& 15,951
Al 15,951
O=skel=Xa 28X 721,236
- el 600,924,000 600,924
Al 420,648
T 180,276
- 244 104,288,000 104,288
Al 73,001
- 31,287
- SXZRIE 1,300,000 1,300
Al 1,300
- N2t 14,724,000 14,724
Al 14,724
Mot IXI 2 A AHE 22 291,596 289,872 1,724
Al 291,596
307 212+01& 291,596 289,872 1,724
Al 291,5%
10 AlISXAEEE 22X 291,596 289,872 1,724
OMIH= X E AMHIAHE 2|
291,596,000 291,596
Al 291,596
OISR QAL X 40,000 37,440 2,560
Al 40,000
307 glztol & 40,000 37,440 2,560
Al 40,000
11 ARRIS XA E X 40,000 37,440 2,560
LIS SXAIE SAH =X+
40,000,000 40,000
Al 40,000
MAZSO(UEX QAL LT 116,400 116,400 0
= 104,760
Al 11,640
307 212+01& 116,400 116,400 0
= 104,760
Al 11,640
11 AMEISXAEEES 116,400 116,400 0




SN OISR D
3 L=SXSA (ARSI =01)
el ==XIAIE X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OLOI=XIAE LA 43| X
116,400,000 116,400
= 104,760
Al 11,640
COIRAANE HEOISEL)AEY 218,458 0 218,458
= 109,229
Al 109,229
402 2I2E X201 & 218,458 0 218,458
= 109,229
Al 109,229
02 QI X2 AL EE(OIHTHE) 218,458 0 218,458
OLQIQUAE HE(OISEY)
218,458,000 218,458
= 109,229
Al 109,229
AMNSXNLREEX AZE2RRY 2el(HE-=2SX1) 622,617 439,7% 182,821
301 EetE NS 622,617 439,7% 182,821
0 MSRREEYS 622,617 439,7% 182,821
O 930,000 x43F ~ 128 479,880
O1Ll=H| 309,840 »43H 13,324
OusH| 3,400 »43E 222 « 12 38,597
OSAlHI 8,000& +43% 22 « 12 90,816
SEEAMAEN 243 21,600,736 16,921,584 4,679,152
= 10,343,130
Al 5,495,329
- 5,762,277
colgiiel & AtelE2SKIE & 20,687,260 16,082,214 4,605,046
= 10,343,130
Al 5,171,565
T 5,172,565
203 HR=H] 1,000 1,000
03 A=A PR 1,000 1,000
OF-HEARIEN 2dat AN
1,000,000& 1,000
307 @I2t01 & 20,686,260 16,081,214 4,605,046
= 10,343,130
Al 5,171,565
- 5,171,565
05 2I2tRIE =S 20,686,260 16,081,214 4,605,046
Okolgdiiel & Atelgs A&
20,686,260,000& 20,686,260
= 10,343,130
Al 5,171,565
- 5,171,565
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2A:

3 ZOH SANST(ARSA/HLAHSKIE)
Rl Zojel SN2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZOfRI= T2 MUHY M=ol ota o
243 MY 10,000,000 10,000
401 AIZHIX R0 2,000 2,000
01 AlZH| 2,000 2,000
OBMWHBLHTSAEEI| I IlAxX
2,000,000& 2,000
ol =12 22N 2,320,053 2,227,258 92,795
Al 2,320,053
307 gl2to| & 2,320,053 2,227,258 92,79%
Al 2,320,053
10 Al SXAEEHE 22X 2,320,053 2,227,258 92,79%
OHeI=A2 2 2,320,053
- el 2,085,707,000& 2,085,707
Al 2,085,707
- 244 181,066,000 181,066
Al 181,066
- SXELIE 4,200,000 4,200
Al 4,200
- Nz2tel=g 49,080,000 49,080
Al 49,080
JoHeIsN2 fas4 N2 14,080 0 14,080
Al 7,040
- 7,040
307 212+01& 14,080 0 14,080
Al 7,040
- 7,040
11 AMEISXAEEES 14,080 0 14,080
OFOjoI=X 2224 X2
14,080,000 14,080
Al 7,040
- 7,040
0 XISAt2THEAE JIsE2S 103,028 0 103,028
Al 49,864
- 53,164
401 AIEHIZ SR OHYI 3,300 3,300
01 Al&HI 3,300 3,300
O =X2 == 2+ Wi
3,300,000& 3,300
402 QI>F X201 & 90,728 0 90,728
Al 49,864
- 49,864
02 QI X2 AL E R (01X THE) 99,728 0 99,728
OLIAS 2 IS A2 D] W
99,728,000 99,728




SN OISR
M HOHR! SXNSE(ASISX/HLHEXH)
=&t HoHe SN2 (CH9: &S1)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Al 49,864
- 49,864
ZOHRI=2IESAIE 2H X 906,851 853,073 53,778
Al 906,851
307 QIZ2t01 A 906,851 853,073 53,778
Al 906,851
10 Al S XA EEHE2IHIE X 906,851 853,073 53,778
OXOMOIFAHESAIE 2HXA 906,851
- OIAH| 822,965,000& 822,965
Al 822,965
- 24| 60,000,000& 60,000
Al 60,000
- =SXNEQIE 1,800,000& 1,800
Al 1,800
- ANz2tel=g 22,086,000 22,086
Al 22,086
ZOHRl =L =2t dAESAIY 30,000 30,000 0
Al 30,000
307 212+01™ 30,000 30,000 0
Al 30,000
10 ABIS XA 2SR E 30,000 30,000 0
OFONQI =Y 22t ARSI
30,000,000& 30,000
Al 30,000
ZOHQI KIS MEHIE XI& 194,266 160,830 33,436
= 65,706
Al 128,560
307 212+01™ 194,266 160,830 33,436
= 65,706
Al 128,560
10 Al S XA EHE2IHIE X 194,266 160,830 33,436
OZOHR! XIS MEHIE X
164,266,000& 164,266
= 65,706
Al 98,560
OZOHR! RIS MEHIE] XI& (AIBIZ=JIKIE)
30,000,000 30,000
Al 30,000
ZOHQIXIGHol AT 2AXRA 28,375 28,375 0
Al 28,375
307 2Iz2+0l™ 28,375 28,375 0
Al 28,375
10 Al =S XA EBEER2IHIE X 28,375 28,375 0




SN OISR
3 ZOH SANST(ARSA/HLAHSKIE)
Rl Zojel SN2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
S EEREEEEERE
28,375,000& 28,375
Al 28,375
ZOHRIE MK 16,520 15,520 0
307 lztol & 16,520 15,520
02 2IHBHAIHE £ 16,520 16,520
OFOHY =RE4 L X A
15,520,000& 15,520
FoeIts 4 2 SdFAES 30,000 0 30,000
301 EetE2 N = 30,000 0 30,000
02 ANRI2HHFS(HAAS, XNLHE) 30,000 0 30,000
Ol &4 & SIS
30,000,000& 30,000
MAHZ O (HOHIHFAIA) 256,450 256,450 0
= 230,806
Al 25,645
307 elztol & 256,450 256,450 0
= 230,805
Al 25,645
1 AMEISXAIEEES 256,450 256,450 0
OMASH(HOANFAIE)
256,450,000 256,450
= 230,805
Al 25,645
UL HF=AIE 2 X 3,520,586 3,469,450 51,136
= 2,464,411
Al 1,056,175
307 glztol & 3,520,586 3,469,450 51,136
= 2,464,411
Al 1,066,175
10 Al SXAAEEHE2EHI2x 3,520,586 3,469,450 51,136
OZANFAIE 28 K& 3,520,586
- 22| 3,296,755,000& 3,296,755
= 2,307,729
Al 989,026
- 24| 159,966,000 159,966
= 111,976
Al 47,990
- e 63,865,000 63,865
= 44,706
Al 19,159
ZOHRIHFAIE 2 ABIFIIAIE 224,189 213,248 10,941
Al 224,189
307 el2tol & 224,189 213,248 10,941




SN OISR
3 ZOH SANST(ARSA/HLAHSKIE)
Rl Zojel SN2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 224,189
10 Al SXAZEE 22X 224,189 213,248 10,941
OZOMANFAIE 2S ABIFIHAEA 224,189
- 4284y 90,660,002 90,660
Al 90,660
- SAUSXELE 6,800,000& 6,800
Al 6.800
- YOHSROF AFOHR SALA =0t
103,669,000 103,669
Al 103,669
- ZEH S FIOIKIR (A L8
1,560,000 1,560
Al 1,560
- YH2ASH S 21,500,000& 21,500
Al 21,500
ol SSHEIHE XA 325,769 310,984 14,785
Al 325,769
307 @I2t01 & 325,769 310,984 14,785
Al 325,769
10 Al SXAAEEHE 22X 325,769 310,984 14,785
O =428 Xa 325,769
- el 277,369,000 277,369
Al 277,369
- =gl 48,000,000& 48,000
Al 48,000
- SXELIE 400,000 400
Al 400
ol MATHEAIE RIA 648,786 629,573 19,213
Al 585,841
T 62,945
307 lztol & 648,786 629,573 19,213
Al 585,841
- 62,945
10 Al SAAEEHE 22X 648,786 629,573 19,213
OZ0fe MNEMEAIE X 648,786
- Q12| 583, 169,000 583, 169
Al 523,879
- 59,290
- 24 36,537,000 36,537
Al 32,882
T 3,655
- MItS Al 28,080,000 28,080
Al 28,080




2A:
X XH -
o e

=aak

=X
ZoHe! SXSE(ASISX/HAHSKIH)
el SXEH

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- SXELIE 1,000,000 1,000
Al 1,000
=== (01=) X2 1,074,111 1,244,588 A170,477
= 751,878
Al 225,563
- 96,670
301 EtE NS 1,074,111 1,244,588 A170,477
= 751,878
Al 225,563
- 96,670
01 Al EE A S (2 RDEXMA) 1,074,111 1,244,588 A170,477
OFM==0Ix) XI=
1,074,111,000& 1,074,111
= 751,878
Al 225,563
- 96,670
Z=E(Xa? 8) K= 509,506 655,693 A146,187
= 356,654
Al 106,996
- 45,856
301 EtE N = 509,506 655,693 N146,187
= 366,654
Al 106,996
T 45,856
01 A2 HSFS(RNEERTHE) 509,506 655,693 A146,187
OZM= (42 S) X2
509,506,000 509,506
= 366,654
Al 106,996
T 45,856
ZoHe! He+=< 195,845 221,000 N25,155
Al 195,845
301 LELE NS 195,845 221,000 N25,155
Al 195,845
02 A EE AT S(FANE, XLETHE) 195,845 221,000 N25,155
OFe! =& 195,845,000& 195,845
Al 195,845
Foeld=s s X2 6,147,731 7,607,726 1,459,995
= 4,303,412
Al 1,844,319
301 EetE NS 6,147,731 7,607,726 1,459,995
= 4,303,412
Al 1,844,319
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2A:

3 ZOH SANST(ARSA/HLAHSKIE)
el Zoiel SXNEE (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 6,000
BRINFWS (0L 12,895 12,925 A30
= 10,316
- 2,579
301 2eEN= 12,895 12,925 A30
= 10,316
T 2,579
01 A2 HSHS(RNEERTH) 12,8% 12,925 A30
O EX0|+ WF 12,895,000 12,8%
= 10,316
- 2,579
O LT 2 X2 (L Lxtel) 1,082,666 1,064,000 18,666
= 541,333
Al 541,333
101 ©1AH| 1,078,814 1,061,464 17,350
= 539,407
Al 539,407
M ORINZZ2NSE S 1,078,814 1,061,464 17,350
OF IRl X3 (LeH) 1,078,814
- el 2,006,270 368« 12 905,589
= 452,79%
Al 452,794
- 402E 905,588,640 %10.795% 97,759
= 48,879
Al 48,880
- EX= 2,096,270 «36Y 75,466
= 37,733
Al 37,733
201 fer23| 3,852 2,536 1,316
= 1,926
Al 1,926
01 AtR2t2lHl 3,852 2,536 1,316
OgZd= bl 42,0002 x36E <22 3,024
= 1,512
Al 1,512
OougRIAs =& 150,000 +5& 750
= 375
Al 375
O =8 MXbl 78,0002 *12] 78
= 39
Al 39
ZOoHQIdXtel XI&(AIRMLXtE]) 240,594 236,000 4,594
= 120,297




2A:

3 _X;OH I SXNEX(AZISR/FHAHEXR)
Rl Zojel SN2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 120,297
101 @1A4H| 239,739 235,882 3,857
= 119,869
Al 119,870
04 JIZtN2Z2XNSE 239,739 235,882 3,857
OZ IRt KIR (AlZHA) 239,739
- el 1,048, 1402 x 168~ 12 201,243
= 100,622
Al 100,621
-4Ai2Es 201,242, 8802 *10.795% 21,725
= 10,862
Al 10,863
- E&=s 1,048, 1402« 162 16,771
= 8,385
Al 8,386
201 er23 | 855 118 737
= 428
Al 427
01 AtR2te|Hl 855 118 737
OgZEH= Fbl 855,000 855
= 428
Al 427
ZoRId Kl XI& (SXILXel) 695,420 602,000 93,420
= 347,710
Al 347,710
307 elztol & 695,420 602,000 93,420
= 347,710
Al 347,710
05 2IHRIE S 695,420 602,000 93,420
OZMA LN A (S+=uUS-SXAAE)
119,416,000& 119,416
= 59,708
Al 59,708
OZ L2 KIZ (FHE)
576,004,000 576,004
= 288,002
Al 288,002
ST SHEAMY 75,075 0 75,075
= 30,030
Al 45,045
307 el2to| & 75,075 0 75,075
= 30,030
Al 45,045




S FRI=XID
opel

M ZOHQ SIS (ASSX/HAHSKIH)
o2l Zofel SXEH (CH9: &S1)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
05 QIZtRES 75,075 0 75,075
OSTEHUC STHEHAS
75,075,000 75,075
= 30,030
Al 45,045
Zopel eskd=0 K& 18,764,769 18,821,791 A57,022
= 13,135,338
Al 2,814,715
- 2,814,716
308 AXIHMSOIH 18,764,769 18,821,791 A57,022
= 13,135,338
Al 2,814,715
- 2,814,716
13 I 2 SOIHEHE & X2 A I 18,764,769 18,821,791 A57,022
OFesXd =S¢
18, 764,769,000 18,764,769
= 13,135,338
Al 2,814,715
- 2,814,716
852X Jheta0 629,410 470,954 158,456
= 440,587
Al 188,823
308 AXIHMSO0I& 629,410 470,954 158,456
= 440,587
Al 188,823
13 S| 2SS E AR PEAL I 629,410 470,954 158,456
OsEX Jrtan 629,410,000& 629,410
= 440,587
Al 188,823
ZOCIE2S XA AlBIFIIAI A 803,869 725,963 77,906
Al 723,482
- 80,387
308 RXIHMSOIH 803,869 725,963 77,906
Al 723,482
- 80,387
13 BI 12 SOICHEH B A X LAE AL 803,869 725,963 77,906
OXeI2SKA ABIFEIAI A
803,869,000& 803,869
Al 723,482
- 80,387
LI FAHESMHHIAKR 2,103,114 1,516,668 586,446
= 1,472,180
Al 315,467
- 315,467




SN OISR
3 ZOH SANST(ARSA/HLAHSKIE)
=&t HoHe SN2 (CH9: &S1)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
308 XXM SOIH 2,103,114 1,516,668 586,446
= 1,472,180
Al 315,467
- 315,467
183 SV 2SO0t & AET AL 2,103,114 1,516,668 586,446
OLLHMO! FAHSHUIATH
2,103, 114,000 2,103,114
= 1,472,180
Al 315,467
- 315,467
FAYE LEHHSY RS BSHHIAXA 259,616 284,036 N24,420
= 181,731
Al 77,885
308 AHXIEMSOIH 259,616 284,036 N24,420
= 181,731
Al 77,885
183 S| 2SS AEAIE 259,616 284,036 N24,420
OFad LIS dUSESMEIAK
el 259,616,000 259,616
= 181,731
Al 77,885
LETHEAMEIA IR XA 1,108,856 990,199 118,657
= 776,19
Al 166,328
- 166,329
308 AXIHMSO0IA 1,108,856 990,199 118,657
= 776,199
Al 166,328
- 166,329
183 S 2S0tetE 4R AS AL S| 1,108,856 990,199 118,657
OLESTHEALIA B2
1,108,856,000& 1,108,856
= 776,19
Al 166,328
- 166,329
LEHHR PLAEXEH 7,619 6,080 1,539
= 5,333
Al 2,286
308 AHXIHMS0IA 7,619 6,080 1,539
= 5,333
Al 2,286
18 SIS0t 4 A A A 7,619 6,080 1,539
Ogadie FR4EXA
7,619,000& 7,619




SN OISR
3 ZOH SANST(ARSA/HLAHSKIE)
Rl Zojel SN2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 5,333
Al 2,286
dolSe ST XES 2N 71,588 47,400 24,188
Al 35,794
- 35,794
307 gl2to| & 71,588 47,400 24,188
Al 35,794
- 35,7%
05 git?(& = 71,588 47,400 24,188
OcI=H ST XSS LRI
71,588,000& 71,588
Al 35,794
- 35,794
ZES F28 I8 111 HIRHARA 366,067 0 366,067
= 256,247
Al 109,820
308 AIXIHHISOIA 366,067 0 366,067
= 256,247
Al 109,820
183 SIS B XA AIE 366,067 0 366,067
OXEZ 72 I8 111 HISH
366,067 ,000& 366,067
= 256,247
Al 109,820
ZES LEZOHR! =2t HE 1:1 X 305,520 0 305,520
= 152,760
Al 152,760
307 elzto| & 305,520 0 305,520
= 162,760
Al 152,760
1 AMISXAIEEX 305,520 0 305,520
OzlSZ LEHM =2t HE 1:1X&
305,520,000 305,520
= 152,760
Al 152,760
2 2AIEE 287 ZAZ £X 5,000 5,000
307 elztol & 5,000 5,000
11 AMEISXAEEE 5,000 5,000
OAAZAIEE 22+ AMZE £X
5,000,000& 5,000
HY2HGHI(=L=X ) (IIEHIIE 86,520 63,472 23,048
JlE2Z8I(=2=X ) 86,520 63,472 23,048
JlE2Zel(=e=X) 86,520 63,472 23,048
201 er23| 23,360 26,152 N2, 792




M FR=XD
3. AY2IEIHI(FU=SXW) (I1EHIIE
o2l J12dl(FasX) (S &)
2 - IE!
SN - B - SRASH) - MRA - BAES ol &t e HIDSZ
01 AlR2telHl 19,360 20,152 ANTR
oL VIEX-BIEER-1]
40,0002+ 172 » 12«00k 7,344
O#IAPLTAMAE S HZE
10,0002 1002 1,000
OR A= P48 S|
9,000 x 17 +6A!x 122 11,016
2 =523l 4,000 6,000 /2,000
OZEH, SAPI S ZHIKXH
200,000 %53 1,000
OXtg Al 3,000,000 3,000
202 048l 28,560 31,920 A3,360
01 =LHo1H| 28,560 31,920 13,300
OJl=ge 48 EZ0jY
20,0003 17 %143 12 +50% 28,560
203 HR=H] 3,600 4,200 A600
M SR 3,600 4,200 A600
ORNEgg =AY
300,000& 12 3,600
405 AtatE = 31,000 1,200 29,800
01 TR ESFISHI 31,000 1,200 29,800
OgREsE g 31,000,000 = 1CH 31,000




